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Note :

(i)

(iii)

(iv)

(v)

(vi)

Jo7-97 § fi7 QF T, W eag & 8 /

There are THREE sections in the paper A, B and C.

BFIT-T 4 J97 GG 1 % T4 10 9771 & FoR ST | I90% 977 T 37 &7 8
Tq @41 10 9777 TGI8 FHR & F9791 & & /

Answer all the 10 parts of the question No. 1 in Section A. Each part
carries one mark and all 10 parts have objective type questions.

Q771 & 8 591 7 @ fo5=87 6 7] & IR T | FF F97 3 b FT 8 0F
$7HT 5 FT / 50 WGl 7 I o9 |

Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

FIT-&1 % 6 I571 4 @ 8T 4 I971 & TR AT | IF 797 8 375 T 8 vdf
§7H7 15 &I / 150 Yiegl 4 3o &ifsrw |

Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

NeI% G & G 397) &) FHIR U 19 87 HHory |

Solve all the questions of a section consecutively together.

g1 99137 7 37 814 1 11T 1 3131 3gare 8 wr=r 8

Only English version is valid in case of difference in both the languages.
AR~ T

Section — A

T B 3% fearsy o i 2

(a)
(©)

Ifie s TTHae (b) A9 HE FTHIL
e o (d) e AT

Anti set off device attached with

(a)
(©)

Sheet fed offset (b) Web fed offset
Both (d) Not in both option

(10f4) P.T.O.
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(2 of 4)
T B 31freh TT § YEvT HEeral
(a) THTM (b) wgE
(c) @i (d) @t e
Printing in more than one colour called
(a) Single colour (b) Multi colour
(¢) Both (d) All of these wrong
HIeeH T I foRaT STTm 8
(a) TR HAA A (b) ¥fie e wefa &
(c) o« %e o (d) wFasfrda
Use of folders in _
(a) Gravure machine (b)  Sheet fed machine
(c) Web fed machine (d) All of these
e iz fopg mefim T wm 8 7
(a) o w1 (b) e e wefe &
(c) HEl qgzu (d) At
Tension control is a part of which machine ?
(a) Web machine (b) Sheet fed machine
(c) Dry printing (d) All of these
s et &1 pH BT =i
(@ 55465 (b) 45855
() 35945 (d) 7.00¥8.00
pH of fountain solution should be
(@) 5.5t06.5 (b) 4.5t05.5
(¢) 3.5to4.5 (d) 7.00 to 8.00
it Fed] wie grafed 8
(a) UsARH (b) HTwdEH
(c) BFAHZua (d) 3 I B T
Pre sensitive plate related to
(a) Gravure (b) Offset
(c) Screen printing (d) None of these
T HT Y T HHUT &
(a) il (b) Ul
(c) T (d) TH @ IS TR
Cause of scumming problem
(a) Ink (b) Water

(c) Both (d) None of these
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(viii) TeHSL o T¥eh H 3ATdT 8
(a) @i (b) uwh
(c) wIhe (d) 378 A B 7T
Comes in contact with substrate
(a) Plate (b) Water
(c) Blanket (d) None of these
(ix) IR H=R0T B 3UIH B
(a) TrR (b) =
(c) W (d) wdope
Suitable for power transmission
(a) Gear (b) Machine
(c) Pen (d) Blanket
(x) TiEeh 6l rewTd Bl 8
(2) T (b) 3
(c) 3Mi3M (d) IrE Tt
State of lubrication
(a) Liquid (b) Solid
(¢) Semi solid (d) All of these (1x10)
QoM — <t
Section — B
2. Ye-fRemranERg ?
What is the work of sheet detector ? 3)
3. Ae-3A-9T gU Y HY o] FAIA § ?
What do you mean by Wet-on-Wet printing ? (€))
4. 99 TE S IR H G RTIAA B 7
What do you know about web tension ? A3)
5. U3 hY IR FHI A B ?
How to prepare Pile ? 3
6. BT-31% ! THITEY |
Explain Set-Off. A3)

7. TR 6T HSRAT T 0T 9L 1 THTE I8aT & ?

What effect does roller hardness have on printing ? A3)

P.T.O.
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8.

10.

11.

12,

13.

14.

15:

Tef o S T A1 ST R ?

What is the use of cam in machine ? 3)
L&
Maintenance 3)
Qe — it
Section — C
3fte e 3TRHe A 61 WTE SHewT I THIAST |
Explain inking system of sheet fed offset machine ? 8)
FgUia fie b aTwae wefi | e Tt sere w1 faear @ aui & |
Describe in detail sheet transfer system in multicolour sheet-fed offset machine. 8)
A 3Thee ufi i ferelt T ggur e w1 wfem i Hifs |
Describe any type of printing unit of web offset machine with diagram. )
frferiaa 1 Geu 4 quia Hifr

Describe the following in brief :
(i) TR gATS SHTT $HTS
Roller Wash-up Dampening Unit
(i) CTE 3R g} w1 yEEE
Ink and Water Management (4+4)

TR -FHY YT qgu1 #XAA1 1 R S At SrReror A & gy § s¢iad war 2 17
==t I |

“Time to time maintenance of printing machines increases the life of the machine.”
Comments. 8)

frferfiad 1 auEmsT ;
Explain the following :
(1)
Pulley
(i) fr=d
Gears 4+4)




